1) match emch shope to the correct area.
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The area of this The oran of The oran of The ares of The zrea of
shops is 10 this shope is 7 thiz shaps is 7 this shapa ic & Hhis shoge s B
SUOTIS. squaras SQuares. LIRS, QO

Z) Copy end complete the tohbla for each awample.
Shaope Deccrigtinm iCalesiliating
I o
Thare ore __ sguowes in aach row. -
Tharz cre rows zliogether ar
— rows of ____ sguares eguels _ squares -
1l
Tharz are sguores in sach row. -
Thara are rows altogether ar
:
Tharz are sguores in sach row. -
Thare are ____ rows aleogerier ar
I
3) o) Countths squares of sach colour and add them to find the ares of the mosals
Bluz =
Gragn =
- - L w

b) ‘write a calzulation to find the ares of the meosaic

€) ‘Which mgthed is betterT Why Go you think that?




%k 3k

1) Read the statament balow.
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{ | = s The most afficiant way to calculots the arss
R f of this rectangls is to count sach squars ona
: !
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Do you agree or disagree? Explain your cnswar.

2) Three children have each calculoted the arec of this rectilingar shape
Who is right and who iz wroag? Explain how you know.

Avao

Child
Rovi L&x3=]12
Max LxL=15
&x3=12
Ava
12+1=13
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1) Tomals has drawn thrae rectilinear shapes with a total anes of 10 sgusres
a) e i ona axampls she has drawn. Findsh off her caloulations

Shaps &

dhape C

Shape

Bres of shape & = ____ sgustes
Arga of shape B = ___ squans
Arec of shape C = _____ squares

Total area = . . * 10 Mgushe

b} India has alsc been drawing thred rectilinear shapes

with a total area of 10 squaras.
Sha has drewn & different shape 4 and shaps B

Mow many different wage can pou find to draw shape C7
You may wish to uia o larger pieca of squared paper for Shaps & $hape B

ol working cut.

Z) George has dropped a can of paint on his kitchen flsor

Can you woerk out hew many squaras thens are on the kitchan floor clisgether? Show your calsulstions

3) Joy has accdantally ripped his pags of graph paper

@) What & the smallest poscibla oren of the
whiola page of graph paper?

b) If the graph paper was 8 squares long,
whio i the largest possible area ¥




